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1 -------------- Established population Geography as a Separate branch of Geography.
-----यांनी लोकसं
या भगूोल िह भगूोलाची �वतं� शाखा �थािपत केली.

(A)O.E.Baker 1933
ओ.इ.बेकर.१९३३

(B)Warren S. Thompson 1953
वारेनएस. थो"पसन १९५३

(C)John I Clark 1965
जॉन आय 'लाक(  १९६५

(D)G.T Trewartha 1953
िज.टी.�ीवाथा(१९५३

2 ---------------- is the total population of India according to census 2011
जनगणना २०११ नुसार भारताची लोकसं
या --------आहे.

(A)1028 million
१०२८ िमिलयन

(B)1201 million
१२०१ िमिलयन

(C)1365 million
१३६५ िमिलयन

(D)1210 million
१२१० िमिलयन

3 As per Census2011the ----- State in India with the highest urban population.
२०११ 1या जनगणनेनुसार भारतातील सवा(िधक शहरी लोकसं
या असणारे -----हे रा4य होय.

(A)Haryana
हिरयाना

(B)Maharashtra
पंजाब

(C)Punjab
महारा5ट6

(D)Uttar Pradesh
उ8र 9देश

4 --------------- is the average sex ratio of India as per 2001 census.
२००१1याजनगणनेनुसारभारताचेिलंगगुणो8र9माण-----आहे.

(A)956
९५६

(B)933
९३३

(C)973
९७३

(D)945
९४५

5 Population distribution describe ----------
लोकसं
या िवतरण --------चे वण(न करते.

(A)The way people are spared out
across the world
जगाम=ये 4या प>तीने लोक पसरली आहेत

(B)The number of people per Sq.m.
लोकसं
या दर चौ.िक.मी

(C)The Age range of people in a
population
लोकसं
येतील लोकांची वयोमया(दा

(D)None of above.
वरील पैकी नाही

6 --------------- Region has the highest population Density in India.
भारतातील ---------9देशाची लोकसं
या घनता सवा(िधक आहे.

(A)N.C.T. Delhi
एन.सी.टी.िदBली

(B)Uttar Pradesh
उ8र 9देश

(C)Bihar
िबहार

(D)Rajasthan
रा4य�थान

7 ------------------- is not of factor affecting on population distribution.
-------हा लोकसं
या िवतरणावर पिरणाम करणारा घटक नाही.

(A)Relief
भ-ूउठाव

(B)Climate
हवामान

(C)Fertility rate
जननदर

(D)Mineral deposits
खिनज संप8ी

8 Sex ratio is defined as ---------------------.
िलंग गुणो8र "हणजे ---------

(A)Number child births per 1000 child
death
दर १००० मृत बालकां1या मागे बालकाची
जEम सं
या

(B)Number of females per 1000 males
दर १००० पुFषामागे िHयांची सं
या

(C)Number of males per 1000 females
दर १००० िHयामांगे पुFषाची सं
या

(D)Number of female birth per 1000
male birth
दर १००० पुFषा1या जEमामागे िHया1या
जEमाची सं
या

9 No of live birth during a year per 1000 or estimated midyear population is known as -----------.
वषा(तील दर १००० जीिवत जEमाची सं
या िकंवा अनुमािनत म=य वषा(ची लोकसं
या "हणजे ----

(A)Birth rate
जEमदर

(B)General Fertility
सामाEय 9जनन

(C)Under 5 birth rate
पाच वषा(आतील जEमदर

(D)Death rate
मृIयुदर

10 ------------- State support the maximum percentage of tribal population.
आिदवासी लोकसं
येची ट'केवारी -------रा4यात सवा(िधक आहे.

(A)Madhya Pradesh
म=य9देश

(B)Sikkim
िस'कीम

(C)Andhra Pradesh
आंधJ 9देश

(D)Nagaland
नागालँड

11 Meaning of theMigration------------
�थलांतर "हणजे ------------

(A)People moving in to a country
देशात येणारे लोक

(B)People moving out of country
देशातनू बाहेर जाणारे लोक

(C)People moving both in to and out of
country
दोEही देशात येणारे व जानारे लोक

(D)None of the above
या पैकी नही

12 In migration ------- is a push factor.
�थलांतरा म=ये ------हा घटक 9ेरक आहे.

(A)Good job Opportunities
नौकरीची संधी

(B)Floods
परू

(C)A fair stable Government
सुरिMत ि�थर शासन

(D)All of the above
वरील पैकी सव(
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13 out of 29% of land ----- % of land has permanent settlement.
२९% भभूागापैकी ---------- ट'के भभूागावर कायम �वFपाची व�ती आहे.

(A)30
३०

(B)35
३५

(C)50
५०

(D)75
७५

14 Mathematical density means the ratio between the area of region and-----
गिणती घनता "हणजे एकूण----------- व 9देशाचे Mे�फळ यातील गुणो8र होय.

(A)Population
लोकसं
या

(B)Labor
मजरू

(C)Agricultural Region
कृषी Mे�

(D)None of above
वरील पैकी नाही

15 ----------------- is known as marginal worker.
सीमांत Pिमक "हणजे --------------------------

(A)A worker working below 200 day in
a year
एका वषा(त २०० िदवसापेMा कमी काम
करणारा कामगार

(B)A worker working below 180 day in
a year
एका वषा(त १८० िदवसापेMा कमी काम
करणारा कामगार

(C)A worker working below 100 day in
a year
एका वषा(त १०० िदवसापेMा कमी काम
करणारा कामगार

(D)A worker working below 80 day in a
year
एका वषा(त ८० िदवसापेMा कमी काम
करणारा कामगार

16 ----------- are the main reason behind female migration in India.
भारतातील ��ीयांचा �तलाEताराचे -------------------- हे 9मुख कारण आहे.

(A)Marriage
िववाह

(B)Health
आरोQय

(C)Education
िशMण

(D)Job
नोकरी

17 According to2019 Only ---percent of India population lives in urban areas.
सन. 2019 1याभारतातील एकूण लोकसं
यापैकी फ'त ----------------- ट'के लोक नागरी भागात राहतात.

(A)34.47
३४.४७

(B)34.03
३४.०३

(C)33.6
३३.६

(D)33.18
३३.१८

18 Brain drain has been caused --------------.
बु>ी वहन ------------------- या कारणामुळे होते.

(A)The life of High living Standard
उ1च जीवनमानाचे आकष(ण

(B)Lack of employment Opportunities
रोजगार संधीचा अभाव

(C)Failure to recognize talent in the
Originating Country.
मुळ देशातील बुि>म8ा ओळखRयाची
असमथ(ता

(D)Socioeconomic Instability.
सामािजक आिथ(क अि�थरता

19 ------------- is not a component of population policy in India.
भारतातील लोकसं
या धोरणाचा ------------- हा घटक नाही.

(A)Migration policy
�थलांतर धोरण

(B)Mortality P olicy
मृIयुता धोरण

(C)Fertility policy
जनन धोरण

(D)Industrial policy
औTोिगक धोरण

20 Maternal mortality ratio is expressed as female death per-------
मातृ मृIयदरदर -------------मागे ि��यां1या मृIयमू=ये दिश(िवला जातो.

(A)1000 live birth
१००० जीिवत जEम

(B)1000 pregnancy
१००० गरोदर

(C)1, 00,000 live births
१,००,००० जीिवत जEम

(D)1, 00,000 pregnancy
१,००,००० गरोदर
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